

Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$6,169,576.71	\$5,734,925.39
Contributions	\$90,161.95	\$290,151.03
Withdrawals	(\$30,000.00)	(\$90,000.00)
Transfers In/Out	\$0.00	\$0.00
Income	\$4,714.53	\$17,029.74
Administrative Expense	(\$84.15)	(\$474.56)
Investment Expense	(\$134.62)	(\$1,268.36)
Investment Manager Fees	(\$6.99)	(\$221.79)
IFA Loan Repayment	\$0.00	(\$4,538.74)
Adjustment	\$1,005.96	\$1,005.96
Realized Gain/Loss	(\$264.52)	\$22,251.01
Unrealized Gain/Loss	(\$87,397.89)	\$178,711.30
Ending Balance	\$6,147,570.98	\$6,147,570.98

Performance Summary:

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.75%	N/A	N/A	N/A	N/A	0.71%	12/01/2022

HAWTHORN WOODS POLICE PENSION FUND

Fund Name: Tran

Transition Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$14,339.52	\$631,282.06
Contributions	\$0.00	\$0.00
Withdrawals	\$0.00	\$0.00
Transfers In/Out	(\$14,095.90)	(\$657,075.74)
Income	\$57.20	\$818.82
Administrative Expense	\$0.00	\$0.00
Investment Expense	\$0.00	\$0.00
Investment Manager Fees	\$0.00	\$0.00
IFA Loan Repayment	\$0.00	\$0.00
Adjustment	\$0.00	\$0.00
Realized Gain/Loss	(\$286.56)	\$20,238.99
Unrealized Gain/Loss	(\$14.26)	\$4,735.87
Ending Balance	\$0.00	\$0.00

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	1,580.316	72,301.179
Unit Purchases from Additions	0.000	3,350.296
Unit Sales from Withdrawals	(1,580.316)	(75,651.475)
Ending Units	0.000	0.000
Period Beginning Net Asset Value per Unit	\$9.073836	\$8.731284
Period Ending Net Asset Value per Unit	\$0.000000	\$0.000000

Performance Summary:

HAWTHORN WOODS POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	0.00%	12/13/2022

Fund Name: IPOPIF Pool

Month Ended: May 31, 2023



Market Value Summary:

	Current Period	Year to Date
Beginning Balance	\$6,155,237.19	\$5,081,307.71
Contributions	\$90,161.95	\$282,152.31
Withdrawals	(\$30,000.00)	(\$90,000.00)
Transfers In/Out	\$14,095.90	\$687,525.52
Income	\$4,657.33	\$16,201.07
Administrative Expense	(\$84.15)	(\$474.56)
Investment Expense	(\$134.62)	(\$1,268.36)
Investment Manager Fees	(\$6.99)	(\$221.79)
IFA Loan Repayment	\$0.00	(\$4,538.74)
Adjustment	\$1,005.96	\$1,005.96
Realized Gain/Loss	\$22.04	\$1,906.43
Unrealized Gain/Loss	(\$87,383.63)	\$173,975.43
Ending Balance	\$6,147,570.98	\$6,147,570.98

Unit Value Summary:

	Current Period	Year to Date
Beginning Units	617,371.062	535,785.024
Unit Purchases from Additions	10,602.098	98,309.717
Unit Sales from Withdrawals	(3,021.891)	(9,143.472)
Ending Units	624,951.269	624,951.269
Period Beginning Net Asset Value per Unit	\$9.970077	\$9.483855
Period Ending Net Asset Value per Unit	\$9.836881	\$9.836881

Performance Summary:

HAWTHORN WOODS POLICE PENSION FUND

	MTD	QTD	YTD	One Year	Three Years	Five Years	Ten Years	Inception to Date	Participant Inception Date
Net of Fees:	(1.33%)	(0.45%)	3.83%	N/A	N/A	N/A	N/A	3.94%	12/20/2022

Statement of Transaction Detail for the Month Ending 05/31/2023 HAWTHORN WOODS POLICE PENSION FUND

Trade Date	Settle Date	Description	Amount	Unit Value	Units
Transition Pool					
05/25/2023	05/26/2023	Transfers Out	(14,095.90)	8.919671	(1,580.3157)
IPOPIF Pool					
05/01/2023	05/01/2023	Emerging Market Debt Adjustment	1,005.96	9.970079	100.8979
05/05/2023	05/08/2023	Contribution	75,161.95	9.967040	7,541.0503
05/12/2023	05/15/2023	Redemptions	(30,000.00)	9.927560	(3,021.8906)
05/24/2023	05/25/2023	Contribution	15,000.00	9.837097	1,524.8401
05/25/2023	05/26/2023	Transfers In	14,095.90	9.820810	1,435.3093